CL“P2 L')M eav CDm\o‘moA ‘ong

—r

Given several vectorns x A 3

=3 -

= 2 m teq
g1 7 =
A I/'VIUW' COML;}V}A-I‘}OM 75 9 CL\OOJIL\J\ :Cq(qk
MU|+I\0) ery C C-. CS i +°"- e“(L a‘—:a_'(
jll/.evr a(L\Lnnct} ‘H«ew\ v luLCQ, "’L/J

X +____.<.;2,.4u + G2 Y Cylu T
I d 3 7

1 We quv{ seen this [\rfaa(vt a ,(y,s'\(m.

o'(: [inear equarhou.f {\,./;-}L Co\n-f'fw«'f 4erm)

can I’3€ JQJCV!'OPOK A @A {/h COPH}o, :
7"LQ coefficion] vectow  with variaQ/e Ww/%fyl;‘ﬁm.
ex) i Xk DX B XD
@qvals i s / 9\ [l " D
‘ l % 3 5 .
x:{a}'sz(n)‘f xr{u) / ) QG\‘H:'”Q—
\4/. \Uj \ 7 \l-.._/ \ ye.(‘,{—or‘.
e ey 574 ® ec!va-hon
[;M-C“W\b,
> Almk we  saw )‘, a5 a w\/ -H’“"':"]’Q +LQ
%QVICWJ é.ﬁ.[.v'l"\“" withh fyee anlr:(AL:’&b

[ L_—z ‘57N)‘/ 2-3,5“]~'| D SR

R ER i B N B R B

=), "'2)(3:' w 7('1:’(2')(_3;}.’ ) 2 AN ¥

'5/27(3:2 % ’X.z:'%')(_-‘ +'L> ‘)2:‘ A 5)2 +(2

L5 Sl 3 5T

——

-!.'n. Comb .




L}m’e_ar

Deperlonce + Tndepandane

4

. = 5t of

-

Sy — -—d
Ved‘on X, K2 Xz . Xn
1

K }/mearl/y

7
«‘Jseﬂenien \

when *f’Le_m

exists a J‘e-} f JCQ{G'T C/ C*)./ 56"‘

(_LA)L}(,L aAvé

V;of a“ eqw\l +o O)

cx +c,x + 0 4C, X,, :5.

Juc‘r\ -szrl'

—t—

+hiat fqlmt'

————

sed & vechbws iy [ [meady W]fleﬂeh({&n

e i e A P e o e Jleavr

_H««'f' 75)

J
CX +C2‘><) + o +Chxn & O

Oh\y’ wLeV)
—

-

Cf O HV' 0\” (= "u'nn,
2 P

-

e T
)

Same

oA S°lv;1’\‘9, 76, -4 C3 <0 g L\omogencowr
+hi s LysvRm 3¢, t7¢, ~6¢:0 )

9«w\e CAMZS

,Solv\t"\g y

[$ 54

= e+
o\.:td

/
2.
3

S‘ame oS ’F?noodmx ml&r.rec\—'rou 05 2 L\OIMOSU\COUJ 5.

_ﬁm_m_;_hlok é = ) is (‘LQJ'P‘!#\I“[‘Q l}f A -‘_‘b(t/'“d Y\.\

~




e CL\C(JA -}L\U\.]-', ()/71.\ 4 0/2\40 :72’\:
b \3 LR Y <)

(M _is alumps Ao AX = O olusys bhon
ol least  ome  soluBen X = B "

_______ T g A

guf ‘!’L\QV{, coold J‘H” LQ, e_,',-}‘«;ev 4

Sl s oo soloBonyg,

* L}h, depg s O\Wo‘”/’e/r/-lerm “For e
<
P sol|lutions —{-o +he ,‘\IV\ comb, = O

W-—_
9(1__\10\'\‘!‘0\4 ; L Vl IV\JQP a "‘QVM ’for

17
-t
L _unig R .S°_lu_+)ov' QS

For plfcuo;l")CQ.'\ §u’\/e, H{

T O R O T R T
2 0 -4 > QTR ¢ S o T Caalaal) A
% ’7*&]0 o 3254 %@ 1O {,O~£‘O (o2

S e e s e (Rt

)
o.o_|_ jcz-ol {CQ:O

_ (C3=C3—Fve9. (CJ‘:CJ

fi= A j=isvy

Py

.Gawewll 50‘01*:; G /cz\ = C3/2

LG \ 1

v -
Vote Loméuneovf :y:v‘em nevey - have o noa-0
constut o cdor oukiﬂ.i + Aheiv solufBon,

1k dhy C3 ,

Sr?ci{:'—c S°[u'ﬁ“~( ;

|"\ﬁ

< /"“\’#JZ\ e
e R

/ /

1)

e SVl
l

are Iin-. igw,
) 1

R
L3 )

\--.._.---f‘(\

W —
40&

}\—




So /{'0 o(p,c,;cy\!b /m,o{lp, 0% {m,mo(ep

e  can a{Wd\\/S 501%’ +Le vecetor 84 vwhon

-

Um'ue 5oLu4-;o£\ O li=_lin. /bw(f’)o
%% J‘olu‘fﬁ'ow (—P)—ee Wwo\UeJ) ) /,M o(ep

o E

For %, . Q,J e X, all vecton iy [R”
thee  are  govenl shoptcuts :

W/_\—/

: .l_f one of +hem (o* mow)

| S ’,)( O} +hen ; c{ﬁ’)o,

Lt < fohe of 4hewm (Or VV\O\"QJ)

e O fcax'av‘ 4+ a\hO‘*Lef

X2 :CX&] ; thew  lin dey. _
: [ see ),pre,wou: examfle 4 ;-(; Y 521:(

ot of e i tcam b —}’—uu,«f(

o o ol A Cop o oG —fLe O“)"A@Vf‘

9? C; x R (G e dep.

J
/\lf\p\f‘e ) he COnylvi® 1S lSo ""Yue,?

‘F 4'40— -nvm\ae,v oF ve_c—{;on' 15 [amv

"H/\Q"\ ‘\-\«ﬁ y\umlae,\r O‘F (OW\YJohen'l'S //11“1@"5’6"‘)

of each (n >W\) +L\eh lin, olep.

¥ n=m dm& &ij/';/ 522‘“ in =0
L a

= "‘Lnevg l:n AQ:D | =¥

N T 4Lq+ &64’ iO *quvi ’m merp




Q,X) ”{ 'll} Mmeans ”‘1’[\0 Se,’f of X

) g /%\ EhENTmERE

n= 4
l/ k/( /j m= 3

— . Aep. Since 4 23,
i i
— & solvbous o AX = O

e AN e patrix s Wil

‘HAQ/J-Q ColulM*‘I

".') at IU)\AJL ont Q‘F +L~M-L Can 'oe.

O e e T A .‘Hz\e, o‘|’L€"’5

2) 5/#/2\ LR TR T
( \ol\o) (-] § ¢

0 WV
d @l

[
o
(o)

i/ ]m mdev_ Since  Jdot = —-3#0

—

¢ - -
g onl/y o soluhHOon X =0

P e oy

— hone of +uesp cam lot made af a /in,wm[o.

ot +L\B other +vo -,

R AT

(o] s /3

| 7_ .
=2 ffn. mc)\ew Since  If /\ i el a

\3/

/1)
alin. conmL, A5 (%) +hat weuld mean

2 e ZCi?c’l

(;): Ck'é) }Sﬁ L,:C,Q_j

3=c0— c=2 Fuils. (3#0)

— 4w VQ«C*H\G a)e I|l/] : erp, OV\[Y
y /

-2

: Y
wlien L'ﬂaml!a\ o2 g ile (CHLs,




T e B 2

— }ll« JQP Sl {(g,}: —i(é]}
_r) L ] 0|
a2 AR
0 0 0 0

—2  lumns avre Iy Jep 20

= Irows o I.V\,Jep _j}lqce

one yvow s /\

\3)

A I PR

[z o

- (oluw\ru o ";Vl. oeep. SN R

e
AN
one 1 s O
= det A = o
- det+AY = o
= vnwS ave  |in. dep.
S} wa ;?Ud;e WaT ri X nxn -
)
- 'TL\P column s and Yow S

o —
=———

ave e s T Jep |

'ﬁi

- ov go“l'l'\ )iha Ihde_lo D —— J

P)inis = —)fySJ-em-—-” AX = L'; : A3x2,

J

=) yow5 of A are lin, def) (3>2)

//\ =) columns 07&A avt llh;m:ﬂﬂp; (OhQ s v+/0"‘)




